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Name Date Class

Proportional Relationships

/B8 Puzzles, Twisters & Teasers: Unlike the Others

Each row of problems has 3 equivalent ratios and 1 that is not.
Circle the one that is not equivalent to the others. Write the
circled letters above their problem numbers to solve the riddle.

S . 1
1. 28 20:30 N 10t0 20 M 1p
2. 24:36 U 12 ¢ 6:9Z 4810 721
96 : 5
3. 20 F 241030 A 12:15 X 2L
4. 8810100 D 221025 B 116:200 E %‘% 0
5.9t05C 8—(1) E 99:55 K 135t0 75 Y

No sooner spoken than broken. What is it?
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